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- (FAM) | aeed1iyy (5m) (EHA) | aegriiyy 5m) | L
1 |[dbJuims] 1,113 |[FEJuwhT|] 51,144 [dBJWNTI| 2,003,119 X HET 14,880 [dEJLNTi| 585,175 |HigkEri| 4,579 | 1
2 |wEk 876 |t i 21,677 |XiHBT | 1,416,918 |=A5TH 9,387 |XijHHHT 253,133 [ K=EMfHi| 3,464 | 2
3 |ABEkT 433 |ABEKM| 11,810 |=4TH 906,306 |HEEEFT| 6,627 |t@Mm 182,814 [XijmHMHT 2,681 | 3
4 | RJITH 262 &4 9,618 |f@mMmH 576,523 [§A&TH 5,286 |HIETH 122,598 |#iE&TH 2,548 | 4
5 |/N\&Th 193 [Xij AT 9,517 |HEEHrTH| 419,856 | KM 4,294 |EHTH 93,730 | LERT 2,462 | 5
6 | 185 | 7,094 |’ 294,232 | A0zl 4,038 [HEEEH| 92,961 |=#h 1,349 | 6
7 )i 168 | RK&EHTH 6,930 |ABEKH| 281,494 |/AILET 3,988 | & 90,299 | &H&EH 1,256 | 7
8 |EHf 152 B 5 5,994 | KAWTT| 250,876 |dbJuii| 3,867 | KA M| 80,269 |5 & 1,221 | 8
9 | k&EHET 147 |fREH 5,894 | & &H 200,632 | EEMT 3,681 |ARKT| 79,863 | KZEME| 1,151 | 9
10 | KBk 137 |#Hah 4,914 |fEFEH 135,810 [ KW 3,555 |#itkt 46,605 [dEJUMIET| 1,141 | 10
11 [saTh 119 |f7#8mh 4,723 |Hitkm 131,165 [#EJIIHT 3,305 IKSEMFMT| 41,067 [AE)I1ET 1,078 | 11
12 |ZErEnT 113 |5%d 4,542 |E 5 127,670 | &= 3,033 |E 5 40,624 |HitaT 1,022 | 12
13 |5 112 [Frenr 3,877 [iTHBh 110,057 |%&FHT 2,944 |BEETH 39,505 |\ Z i 1,021 | 13
14 |FERT 102 | & 3,839 |ACZ T 95,586 |Hif&T 2,835 = mT 37,973 ‘=5 976 | 14
15 | & 99 |\ & Th 3,519 |Ewi 93,713 |JIlIGRT 2,772 |\ Zii 36,351 |HrEHT 974 | 15
16 |fTHEh 86 | XErdmiTT 3,280 |/\Z i 92,228 |/NERTT 2,728 |E-iHi 25,502 |AeZlT 958 | 16
17 | A0Fh 76 [#0)ilT 3,118 [r=mT 86,091 [/MrET 2,728 | EENT 22,775 |OEiEh 926 | 17
18 |F ki 75 | K)IH 3,089 |%% FHT 70,160 |5 2,725 |AOZHT 22,418 |¥A)=MT 904 | 18
19 |k Bh 74 @I 2,617 |@JIT 63,294 [O=1Fh 2,609 |HJIT 20,708 |/ALLHET 858 | 19
20 |ZEEH T 72 |%FNT 2,386 | KSERFTH 52,959 |\ 2,538 | 19,695 [H 856 | 20
21 [Freny 72 [/&)11HT 2,293 |FENT 48,089 |HJIITH 2,518 [fTH@TH 19,036 |FEMT 843 [ 21
22 | X T 67 |ARCZHT 2,290 |1 45,198 |f& T 2,377 |1y 18,411 [t&hiH 841 | 22
23 [>=1Fm 62 |k 2,196 |zt 45,164 =g 2,344 |F-E0T 18,096 [HJIlTT 837 | 23
24 =0T 60 [FFEHT 2,183 [#)IlT 44,101 |=EH 2,266 |BI)IITH 16,882 [J&)11HT 798 | 24
25 |35 ih 59 R 2,057 [O=iFh 41,694 |fTHETH 2,265 [K1IEMT 16,407 |5 =HT 790 | 25
26 |J&)11HT FEEI 0 2,031 |/NERTHT 41,600 |8EFET 2,260 | KJITT 15,856 [ACEHT 789 | 26
27 |HJi 59 |ZEFERT 1,934 | Xl 41,116 |AREKTT | 2,258 |Eaihi 15,433 |ZE&EHT 782 | 27
28 | =i 58 |FLaiT 1,933 | KB 40,918 |FENT 2,197 |ZEFENT 15,159 [JIIg5HT 773 | 28
29 |& 0T 58 |FaENT 1,905 [¥A=HT 39,560 |HrEHT 2,160 [D=1Eif 14,392 |#EZEmT 768 | 29
30 |EanT 56 |wEHEh 1,709 [SRETH 38,429 |t&%F Ny 2,145 | KEHET | 13,910 |BFHEMT 750 | 30
31 [m=rnr 52 |ARFE 1,698 |ZEAEHT 36,510 |&EsemT 2,134 [RBH 13,546 |&H T 738 | 31
32 |==Bm 49 &g 1,692 | EEHT 35,213 |FAJ=HT 2,131 |HAEiTRT 13,215 |[d3E iy 734 | 32
33 | BREe)I[HT 47 |/NEBTH 1,526 |HRINT 34,727 |EHH 2,124 |FiHH 11,333 [RAKHET 727 | 33
Ryl EL) 44 |l 1,486 |=#&m 34,078 | 2,051 |%%FHT 11,305 |SURTHT 708 | 34
35 [ KoKRHET 44 |FHET 1,321 [A1LET 32,273 |/KENT 2,047 | & & 10,403 |zEmkr 690 | 35
36 | AT HT 44 |KSERFTH 1,185 [ 27,638 | KJIPENT | 1,993 |ACFET 9,736 B 5 685 | 36
37 | 41 [T 1,159 [AoFH 27,503 |z 1,985 [/AKEHT 8,691 [ XJJVERT 683 | 37
38 | K JJpehT 40 |/KENT 1,085 |&F& 26,280 |1y 1,924 /AR 7,988 |8 &N 678 | 38
39 | K= 39 [KJJpeRT 1,045 |[#@HEr 23,410 |fESENT 1,902 |imANT 7,534 | KBk 668 | 39
40 |f&iEE 34 |EmnT 986 |/K&HT 22,867 |mEHT 1,876 |&HE T 7,277 |BET 666 | 40
41 |KERT 30 | E&mT 937 [=rmr 22,245 |Gk ETH 1,849 [KJJpERT 7,139 KRB 663 | 41
42 /NPT 25 |fEZEnT 926 |&EsiT 21,431 |ZEAEEHT 1,844 [T 7,055 [mEET 647 | 42
43 | EF&0T 25 [ RKARHET 865 | RJJBENT 21,241 |#ailT 1,824 [AILET 6,888 |=-miT 645 | 43
44 |l $EH] 24 |HFE 850 |/IMPTiT 20,896 | KALHT 1,813 [#@iEm 6,445 |FHT 644 | 44
45 |fgEEnT 24 /A 1LET 815 |fEZEMT 17,810 |AMT 1,767 | RAKHT 5,821 |[/MPrlT 639 | 45
46 |FEHTH 23[R 769 |tERNT 17,287 |A°Fm 1,625 |[#&7HT 5,381 |A°FEm 585 | 46
47 [tEgmy 21 /AT 744 |REJIIMT 14,536 |FE3EHT 1,609 |/AT 4,838 |BJIlT 540 | 47
48 |/NERT 21 [HREa) 10T 646 | KANT 14,450 |~ =0T 1,544 |EEJITHT 4,666 |/NERH 525 | 48
49 |RERT 19 |l mT 545 | sE T 9,311 | &R 1,514 [psEmy 4,141 |BRE)IIET 516 | 49
50 |41y 17 |BRN 506 |&FHMT 8,051 |FHT 1,454 |FHNT 3,891 | KAEHT 499 | 50
51 | -=EHT 13 |FAH 506 |&E AT 7,575 |®I)IlTH 1,383 [BRE()I[HT 3,344 | RJIT 488 | 51
52 |/A LT 12 |#EJIIIT 430 |HREJINT 6,867 |f@iEm 1,357 |FEHATT 3,294 |%&FHT 478 | 52
53 |&L AT 11 |5 kR 330 |JIIEGHT 5,059 | KErbifi| 1,272 |BRAT 1,443 | KRBT 440 | 53
54 [JIIIgFHY 10 |JINIRFHT 176 | ERT 3,464 | RJIT 1,240 [FE EHT 1,393 | sHUERT 437 | 54
55 | & 10 | HMGAS 175 |5 =0T 2,892 |HlGAf 1,192 [JIlIgr Ry 1,392 |8 EHT 419 | 55
56 |~ AT 9 |FEHT 175 |sEkt 2,164 |AREQJIET| 1,035 |HiGAS 779 |iThEm 396 | 56
57 |k Ml 7 | RAEHT 107 | RAERT 1,966 |5t EHT 1,022 | KAEHT 534 |tEHETh 379 | 57
58 | KAZHT 6 |SkmET 100 |5k HET 814 |5 HNT 796 |S& HNT 374 | mENT 374 | 58
59 | HIAT 6 |¥sHAT 83 [¥RHMT 420 |FRAT 663 [FRAT 71 |[FRAT 246 | 59
60 | FRAT 5 |oRAT 24 |oRAF 196 [VRHET 497 |USHIT 63 |UsHIT 75 | 60




